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QUESTION 1

Which two of the following statements about the screening process in IBM Cúram Universal Access are true? 

A. If more than one screening type is available, the citizen must select the screening that they want to undertake 

B. It is used to quickly identify a citizen\\'s needs and direct them to relevant community services and government
programs. 

C. If the citizen previously saved a screening, the system automatically resumes the saved screening the next time the
citizen logs in 

D. The agency can specify whether the citizen can choose to be authenticated before screening 

E. The citizen must log in or create an account before screening can begin 

Correct Answer: AB 

 

QUESTION 2

Which of the following statements about IBM Cúram Evidence records is true? 

A. Each evidence record is associated with an evidence relationship 

B. Each evidence record is associated with a case owner 

C. Each evidence record is associated with an evidence type 

D. Each evidence record is associated with an evidence approval check 

Correct Answer: A 

 

QUESTION 3

Which four of the following are valid settings for an organization\\'s location data security? 

A. Variable 

B. Delegated 

C. Restricted View 

D. Read Only 

E. On 

F. Suspended 

G. Off 

Correct Answer: CDEG 
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QUESTION 4

Which two of the following IBM Cúram components can the IBM Cúram Evidence Broker use as a target for sharing
evidence? 

A. Prospect Person 

B. Case 

C. Information Provider 

D. Position 

E. Organization Unit 

Correct Answer: AB 

 

QUESTION 5

In which three of the following ways can representatives be registered? 

A. As nominees who receive benefits on behalf of persons 

B. As product providers for participants 

C. As correspondents for participants or cases 

D. As service suppliers for participants 

E. As administrators for participants 

F. As contacts for participants 

Correct Answer: ACF 
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